sﬁn‘r\ﬁm.

Lo Anclevator is moving down with a constant
aceeleration of 1 ms . How much highter
does an SO Ry mun feel nding the elevator ?
(A) JON (3) SON
(Cy 20N (D) 60N

2. The holy city is in the district of
(AY Thsar (BY Panchkula

(C) Ambala (DY Kuruhshetra
Lo 1< means t4, e means 't means
— T means %', which of the following
IS NOL Currect ?
(A) IxS-3+1D48= a1
(B) J0+5-3¢ 10 5 =133
) IS4 = 5=22
(18] -S+4=10x5= 27

o Alfidavit is mandatory to a candidate
while filing the nomination to the Election
Commission, Here Affidavit means

(A) Giving the detls of campai gn
expenditure of candidate

(B) Informing the party details of
candidite

(C) Giving deusils of property and eriminul
cise pending

(D) None of the above

n
.

Reduced phase rule is, F =
(A) C-P+3} (B C-P+1
(C) C-P+2 (D) C-P

6. Choose the missing term out of the given

alternatives.

bedf?hj?]

(A) 1 n (B) jm
(C) 1 ' m (D) mi

7. Which attribute specifies the distance
between two adjacent cells 7

(A) CELLMERGING
(B) CELLSPACING
(C) CELLPADDING
(D) None of the above

.z.

HSSC Clerk, 22 Sep 2019, Evening

- —

v €7
1 g fevwe |t T cnmn s 1SS
w1 1 s Fan an swd) G!'l‘ n feri 8 12l
P, aie Fpn wewn weap &0 7
IA) JON (13) BON
(C) 20N (D) 6BON

2. fia gea eaaren faen @

(A fewm (n) 'FI'_{’('TI
(C) 3T (D) FEFH

3 it and o R, et ord -, 3T

weour g o o, at fsfafom w1 @ aE
= Al e ?

(A) 30xS-4=104+5=4]

M) J0+S-3+10x5=33

€Y D+533-IxS=2

(D) 0-S+3-10~5=27

4. T srEm | qEes afae e ae o

JteEan w1 versam 2 st ) ) el

PEATHAR T FN e 2 7

(A) Initgan & sifvem =m0 fam s

(R) Wﬁnﬂ?mﬂﬁiﬁﬂmaﬁqﬁi -
SREY

(C) &fa s swufirr o wr faae gl

EC)
(D) 3w 8 | =018 o

5. g s wEEn fem F =

{A) C-P+3 3) C-P+1

(C) C-P+2 (D) C-P
6. Teum fawei § A g v wa =l )

hedl(?hj?!

(A) in (B) jm

(C) v m (D) mi

7. WA-H e 2 s de A e w
faffe s 2 7
(A) Temfsn
(B) Frewfam
(C) demfEm
(D) I59 8 | FE 77
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8, The hst pagae ol Haryuna was

52019 (1) (E2)

8, el @ geen Fera s fa ad
sated i fyut a7 :
l_\] l"-“’ ll“ 1944 [J\' l“ ) ‘“-' 1959
TR R Dy 1930 (Cy 1929 (D) 19
9, Ualendar  Date : Dictionary -7 9. ¥tz fafa .. srezan ;7
(A Wonls B Book (A 7Tt (B) =T
(€) Vovabulary (D0 Language () 9TEE-WER (D) wm
10, In Harvana the ity of texule, carpets and 10, whamm g Fao, FEia i FUw &1 7
Blankets 1s Eacid
(A Sina (B Hosar (A famm () femm
(C) Surat (D) Pampat () {4 () A
1L Secondary colours ae 11, frfmami
(A OGY )y WGOH (A OGN (M WGOGH
(Cy RGU (mn CYyn (Cr RGR (M CYB
12, Which data processing techmiques can be | 12 wf e 3 'ﬁh’g ® A 2 “i.ff-ﬂ'_
apphied 1o remove the nose and correct -3 wileg wwesm wa=frs. g A
incomsistencies an datn ! w7
(AY Data transtonmanon A\ Jﬂi{t Fararm
(B) Data reduction (B stey fachem
(C) Data intepration () s udem
(D) Data cleamng () wtan wrsyam
11 Which of the following is a rabi cropin | 1) ¥4 i s R nTR-fifiemad?
India ?
(A) Jowar (B) Rice i) (B) =T
(C) Maize () Barley (C) "FR Dy N
M. There are 3 scales of length 65 cm, | 14, F=571: 3 9773 31 2% 51 5912 65 cm, 85 em
85 cmand 95 em respectively. The length of 37 05 em 21 38 @ ) =t w2, fam
the cloth that can be measured evact number 3 @141 O 1 M 8 | B0 os | 3mmm
of times using one of these 3 scales 18 TOF WELF T B W A Iﬂ.‘a.! R
(A) 5 ["' 21675 (A' S (By 2178
() | (D) 20998 (Cy 1 (D1 20095
I5.  The first textile mill in Harvana was 18, 1937 % gfarm # s wm w ween w99
established in the year 1937 wt fra e S g 4 7
(A) Sirsa (B) Gurugram (A) o (B) I8
(C) Kamal (D) Bhiwani (C) T (D) Paar
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16. 10 12% term of an AP exceeds the 3 term | 16, af2 auaman st e 2 &2, e wer a3

hi\ .::.uul O™ 1ermoas 63 then the fist tenm sifus B aft sraen w182 o) B, W UEE T
: ' ) - . .
ot the A P is ) et & mwra ud a7

(A) 3 i 1 (A) 3 (B |

) o (D) 4 () 6 (D) 4
17, 17:52::1:2 7. 17:52:41:7

‘-'\.1 5 () si (A) § (B 5l

() 3 (D 4 ) 3 (D) 4

18, The Administration of small cities isdone by | 18, @2 91ei @ wams a1 s A

(A) Jagadadn (A) el
(B) Muntcipal Corporations (8) wm fam
() Mumclp.nhms (C) sffirnfafs
(D) Nagarapalihas (M ?-’Wﬂft‘!"n

19. Which is the commercial cropol Haryana * | 19, eftarem & aforsa-gam syl 2 7

(A) sunllower (A) FEAge
(C) cotton (Cy
(D) sugarcane () = —
20. The Golden City in Haryann was 20, vhoron S =rfanh
(A) Sonipal (A) #iTa
(B) Panmipat (B) 9T=TA
(C) Rewar (€) T
(D) saETEn

(D) Ambala
21, Select the correct statement about the circle | 21 W_w -‘r"ﬁ ERUEY h i freterfem
FananfFas Fmaame ?

of stirs in the Mlag of Council of Europe.
| Tl T I it e

i 12 wateped 3 far & feea
(A) FAa, @02

(B) #7341 "R

(C) i 3l i T wél R

(D) i 3 i ZH wd AR

b Solidanty and [ammony between nutions.

ii. 12 resembles symbol of perfection,

(A) Only s correct
(I3) Only n s correct
(C') Both i and 1 are correct

(D) Bothiand it are not correct
o
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g

s Ninety Ine theses of Manmin Luther King

ncluded

(A) Cnticising many of the practices and
ntwals of Roman Catholic € hurch

(R) Bringing back the democratic
gavernment in the nation

(Cy Criticising the administrative faults of
Monarch

) Comrolling the publishers of books
from Heretical

11, The net angulur momenium s conserved if
(A) Sum of takal linear momentum acting
on the obgedt s zet0

(RY Sum of external torgues achng on an
object iy Zero

(Cy Sum of external forces acnng on the
ohject 1s ze1o

(D1 Nine of the above

34, 1 MADRAS 15 coded as 50, how 1s

CALCUTTA coded ?
(A) 8l (B) 80
(c) 82 (D) 83

25 The Rowlatt Act was passed in the year
(A1 21¥ March 1918
(B) 21% March 1919
(C) 21* March 1916
(D) 21* March 1917

26, Which was the earliest language used by
the Mesopotamians ?

(A) Latin
(C) Greek

(B) Brahmi

(D) Sumenan
Il ITROAST is coded as PQYUR in a certain
language. then how will SLOPPY be coded
in that lunguage ?
(A) QNMRNA

(B) RANNM(
(C) MRNAQN i

(D) NRMN
) Rh:l.' ‘Q,z
-"

22.

23.

26.

o |

S2019 (1) (E2)
sif e i o e 7 A e e @ ?
(ay T deifers wd  wd wad i

ygﬂﬂﬁl:mﬁﬁmm
(B) g & ST TR W T

() T2 i WA 3 ) ST

FA
(D) Mﬁwﬁ%mﬂ&ﬁﬁﬂﬁﬂ
3

Frere s vt am wifard mar%uﬁz_ .

(A) W@ N AT e Yfrer @m & A
i R )

(1) U i e 91 g aefl
am 74 P

() 3 ST AT A A 7

) et AL

aft MADRAS F15Z 56 8,7 CALCUTTA

F1 gz wnam ?

(A) 8l
(C) 82

3z whfm e e S ofa Fmma
(A) 2177 1918
(B) 21Wn 1919
(C) 219 1916
(D) 21737 1917

(B) 80
(D) 83

T .
(A) wiea
(©) Tt

(B) #T
(D) wHfm

gﬁ ROAST F1 %27 PQYUR ®, @t =1 wirat
1§ SLOPPY &1 %2 F0 F1m 7

(A) QNMRNA (B) RANNMQ
(C) MRNAQN (D) NRMNOQA

G
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8. Flood Plans made by Markanda niver iy
called
(A) Nelh (i Bel
(C) Shavaki () Alluviat

29,

0,

31,

RN

RSN

(A) 2.5 vears
(C) 3 vears

How many Sustainahle Developmeny Gy, ls
(SDGs) are included 1n the 203 agendy
for sustarnable development of the United
Nanons !

(A 21 gaoals

(B) 10 goals

(C 17 goals

(D1 None of the above

The nver Yamuna n

OWS on wiie >
of the Imulen 2 sach region
(A) Northemn

I€) Western (B) Souther,

(D) Eustern
Summer scason in Hurvana is from
(A)
(B

(C)
D)

July 1o September
Apnl to June
March to May
Junuary 1o March

The Headguarters of United Nation High
Commissioner for Refugees (UNHCR)

located at

(A) Pans

(B Geneva

(C) Washington DC
(D) None of the above

Akbar 1s the son of
(A) Shahjahan
(C) Humayun

(3) Babar
(D) Javavardana

The periodd in which Rs. 5,500 will amount
(o Rs. 6,050 at 4% p.a. sumple interest 1s
(B - vears

(D) 3.5ycars

28,

29.

3L

(R

:i‘t"ﬁmmwm%m 1wy
(A) I B) ¥

=) *oh (D) vegfres
W!wm:wmﬁmﬁm,m
qmwfﬂ‘ﬂﬂaﬁmﬁmg:
(A 2| e

(BY |07y

(C) 17783

(D) 39 % 3 50 37

rﬁm‘rﬁm&sﬁm?{rm“

(A) 38 (B afim
(C) wf=ni o) i
riem i mis M saavm 7

(A T=é B
(By 3@ a g
(C) 5rd & uf
(D) et e and

s ot r? m:“n my 14 mg:m =
T e i fad B

(A e

(B FFT

(C) a'r'fmrzaﬁﬂ"l

(D) IR T

WFa kel

(A) TTESE (B) wma

(Cy (D) FTd3

frm s B %, 5,500, 4% BEHE #A &

TE. 6,050 T
(A) 2.5d@ (B) AW
(C) 34 (D) 357&
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he sverage of the marks of 8 students is 30,
that 0f the first two is 22V and of the next
three 15 24, the marks of the sixth student
vs 3 1ess than the seventh and less by 9 than
the eighth student. What was the marks
cbtained by the erghth studem ?

(A) 48 () 2

(Cy 46 lD) 44

A%

W The decomposition of NH, on gold and
molybdenum surface 15 an example for
resction,

(A) Second order  (B) Third order
(C) Zero order (DY First order

3. Which one of the following animals given
below 15 a Natenal Animal of India ?

(A Benpal Tiger
(th
(W A Laon

Aaan Elephant

(D) None of the abonve

38 Hicun Tsang visited India during the
Administranon of

(AL Vajapew:
(B) Indira Gandhi
(C) Shahjahan
(D) Harshavardhana

39.  The regime established by Augustus the first
emperor was called by which name ?
(A Monarch (B) Republic
(C) Principate (D) Senate

0. In Windows Internet Explorer, the defaull
font-size is
(A) 22 (B) 24
) 12 (D) 11

41

The highest population of buffulo was
found in

(A) Rewun

(B) Bhiwani
(C) Panipat

(D) Kaithal
i A

2019 (1) (E2)

15, g faofia # siwim adam 30, wra sw
st 221 i 3a iR W 24 8, o frond

F o5 wAd 4 39 R g A frond] &

g wg b wed faond g ara sF AN G 7

(A) 48 (R) 42
(C) 46 (D) 44
36, w1 oftr diferegan ®AR W NH, T TR
ffra i fm TF SEmm R )
(A) feda w= (B) ThaFs
(C) = aFN (D) 948 FH
37, Fysifafom & § #0901 SEE T E TR
AT R 7
(A) 9T AN
() vfmard endi
(Cy vfsrand m
(D) TH R # w18 TH
8, werAm % nnA F A v
|
(A) FTFT
(B) sfEmnhd
(C) mmrae!
(D) TR
39, ¥mew T s fFe g . vaw

wan2 & A & TE |

(A) m (B) ﬁ'q‘%ﬁs
(C) finfiaz (D) Tz

T R

(A) 22 (B) 24
© 12 (D) 11

41, o of) waw sifir sy wel wd i 7
(A) Tardl (B) Hrar
(C) urfima (D) Fua

G

]
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4

47,

48.

G'a

The first element in JavaScnpt armay hay jyg
indey value ag

(A) -1
(C) 0

(B 2
(1

Out of 50 people surveyed who dnink, grfea
ong of the 2 drinks cotfee or tea. 20 peaple
dnnk tea. 10 mie both tea and coffee. The
rumber of people who dnnk coffee onl v is

(A) 30 (B) 10
(C) 40 (M 20

First General Election of India held i
(A) 1951.52
(B) 1952.53
()
(D) None of the above

19805

Complete the series.
-1.0,1,8,27.2
LA) &)

(C) 24

B) o4
(D) 44

Which one of the following constituencies
given helow is the largest constituency in
Indiz in terms of electornte as per recent
data of Election Commission of India
(A} Ladakh

(B) Chandm Chowk

(C) Malkajgin

(D) None of the ubove

If2*-62'+8=0thenx =

(A) =1,-2 (B) 0,1
{C) 1.2 (D) None of these

Which of the foliowing were the Presidency
cities of Briush India ?

(A) Bengal Delhr, Bombay

(B) Delhi, Bombay, Madras

(C) Bombay, Bengal. Madras

(D) Madras, Bengal, Delhi

ls'

(FETRNT Ty

42 i S N waw de # §aEt

43,

- 2

(A) -l
<) 0

By 2
(D) 1

SOFNT % gl 8 0 3 AN @ w2 S ek
qram o d o die 8, 20 @m a9 p,
10 57 7761 3 s 91 o ) m w A

et #7 Hem wn @ 7
(A) 3 (B) 10
1C) 40 (m 20
H. NIR R e wm EE . q
ran )
tA) 195]1.52
(1 1952.53
1C) J9%).5]
(D) 791 4 3t 7713 7
I8, W T A
-1.0,1,8,27,?
(A 60 (BY 64
) 24 (D) 44
6. T 2, vt sEm s ¢ ooteE &

st 3t A1 % sy & v w1 R
a4 Trafafaa 6 8 a-mR 7
(A) ©Imm

(B sit=d) s

(C) y=wraingi

(D) 3% 4 3 w5 ]

47. 2262 +8=0Ma=

1.=2

1.2

(\)
1C)

(B) 0,1
(D) R = 3

48, Frfafem 8 i i) o o5 v @

unfmfFma

(A) #’Tﬁ. F’.".""':"ﬁ,iﬂb:-l
(B e, afer, qm
(1 Tz, T, wEm
(D) w7, wms, fzee
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9, Compicte the senes,
b.n uc -'o s- “I ?l "'
(A) S

\(_. Y O

12
Ny 9

&), Where the omament purli made of gold
worn by Haryana women ?

(A} Neck (B Finger
1Cy Nose (DY Ears
21, 05,05506808.7

v\
iCy 09

(B) 0.95
(DY 0.82

"

L Class Cnetsark 11 addeesses range from
(A) 128285 0.0 10 192 255.0.255
(B 323.285.255.0
Wy 10030127000
) 128000 w 191.255.0.0

1200w

SN, Itisthe larest freshwater lake i the north-
eastern India. Touted as the only floatng
lake in the world due to phumdis floating
over it As per ahove statements which one

of the following lakes could be this ?
(A Dal lake
(B) Loktak lake
(C) Wular lake
(D) Nonc of the above

84, In Harvana a branch of Benetton group
which produces shoes, cloths, bags clc. is
focated at

(A) Pampat
(B) Bhwamt *
(C) Fandubad
(D) Gurugram

S5, IF EXAMINATION is coded as 125, what
18 the code number for HARDWORK ?

(A) 68 (B 98
() 321 (D) 250

9.

49,

sll

‘h
1L
H

mt{" ‘f"r"‘li 512019 (1) (E2)
8.9,7,8.6,7.7
(N) § H 1n
(€) 6 () o
v i w13 R 93 v e o W) v
g ¥ 7 @
(A) M3 (B} Fnfera!
(Cy 1= (D) W=
0.5, 0.55, 0,65, 0.8,
(A L (B 095
(Cy 0O i 082
201 C Jzad (P e e
(A) 128.255.0,0 # 192.255.0.255
(B) 19200071 223.255.255.0
(C) 1.000%F 127000
(D) 128000 19125500
g e Y v 3 v e o e g A B
R G R AR R T
A T A A N TR R
e Frsfefm AR e dR-H dm b T
(A) TEEH
(B) wrEarE WA
(€) Fem FS
(D) ¥4 & @ 578 7
¥ftamm i i v B uF T f, W@
TR, w2, & sl @ I e R,
3R
(A) TEmA
(B) REr
(C) iz
(D) ™
af2 EXAMINATION &1 52 125 8, @
HARDWORK 1 Fz #e&0 ¥4 #r1 7
(A) 68 (B) 98
(C) 521 (D) 250
G
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§7. AG:10::EK:? '
(C) LR (D) MS

§8. The potential energ) of a 100 kg block

10 m along a 307 inchned planc 1§
(By Zero

(D) 49)

(A) Ys0J

(C) 2458)
£9. Mo and Tipra are the ranges separated by

(A) River Marhanda

(BY River Yamuna

(C) River Ghaggar

(D) River Saraswuth

60. The King Harshavardhana wrote a famous
play
(A) Bharatanjah
(B) Naruyaneeyam
(C) Nagananda
(D) None of the above

61. In Haryana which city knownas steel

city ?
(A) Rewan (B) Ambala
(C) Hisar (D) Rohtak
62. pH range of boric acid and borax buffer
mixture 1s
(A) 68-92 (B) 59-8.0
(C) 22-38 (D) 40-62

-ln.

56.

60,

61,

62.

(PRI S

st S SR an, I mam
¥ wad TEd SR F2AT A w
(A) @

(B) ¥

() fesrdl

(D) 39 8 @ wid 7

AG:10::EK:?
(A) PV (B) SY
(C) LR (D) MS

U 00 F4 WHAS & {ra 10 HZ TEUF
100 Frm & e 1 s 5 @
() 7=

(h) 490

(A) 980)
(C) 245!

wrrf 3 fem afernt WO SEm
rrdt e |

(A) Tanmde

(B) = mE

(C) ¥ usn

(D) 32 e

A T 3 v giea qeT e |

(A) wmﬁ-’i

(B) Furgiom

(C) Tz

(D) F¥ & 3 F18 7

wieamn | FaT I =i He F =9 5 9
TP 7

(A) @& (B) SaTen

(C) fram (D) Tea+

At vfare i vt au fiasn @1 diva T
FNeY '
(A) 68-92 (B) 59 RO

(C) 22-38 (D) 40-62
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63 1 HCFand LOCM of two numbers are Y and

360 respectively and if one number 1s 45
then the other is
(A) 7

(C) 36

(B)y N
(D) None of these

Quit India Movement was started in
(A) §" August 1941
(B) 8" August 1943
(C) §" August 1940
(D) §* August 1942

The provess of identifying and separating
the essential features without including the

internal detanls s

(A1 Dncapsulation
(B Inhentance

(Cy Data thding

1D Data Alstracthion

A person pays Rs 975 monthly installments
each mstallment being less than the former by
Rs. S If the first instaitment pakd is Rs. 100 then
the time penod in which the entire amount

was paid off 1s
(A) 13.5 months
(B) 15 months
(C) 10 months

(D) 14 months

A Computer with a large number of
instruction 1s called as o

(A) CISC () CISS

(C) RISC () RISS

The largest number which divides 16S und
2851s
(A) 225
(C) 2475

(B 15
(D) None of these

.'l-

6l

(OB

ns.

67.

_ S2019 (1) (E2)
aft =) argansi) w v e wam, g afe

vy B 3fe ufd wE mn as ), Mogwh

(A) 7 (B) 72
)y (D) 38 @ =l N
Wi T SITEEH wa gE s ?

(A) %30T 194
(15) B STEL194)
(C) 8 TE 1940
(12) B @ 1942

sttt i mrafeafen fim e s
fasrnsii @1 >@m F4 it ggarEa f)
afwn ¥

(Ay st

T ltead

(e faEn

(D) wEE HATT

v, =ifFa wiaw fer 8 5. 975

g b, vt frm g R e A S SR W
#ril) afz el frem w1 ApTam 5. 100 FE
qmt.ﬁ@nﬁmwﬁmﬁmmﬁ:i
wm

(A) 135w

(B) 15 W

(C) 10 W&

(D) 149

e v # Fa3ail aTen FIUUF

wgama ®
(A) CISC
() RISC

(B) CISS
(D) RISS

Fr7edt wrh ) e B, A 165 3 2253
favfm Fr i R 7

(A) 22§
(C) 2475

() 15
(D) T @ g T
G

Downloaded from www.cclchapter.C§anned by CamScanner



52019 (1) (E2)

69.

700

7L

The wages of 8 men and 6 boys amounts
0 T 33,10 4 men cam T 4.50 more than

S hoys, determine the wages of each man
and boy.

(A) T25.22 (B) T2,T2s8
€) Ti1st3 (D) T3, 15

If one of roots of the cubic equation

A0 e 2000230 4 6=0is -6, then the other
2 roots are

-1 |
(A) 1, ':; (B) E. -1
. [ |
() C R (D) 3. 3

S kp of u commodity is purchased ut
T 100 per kg, 6 kg at T 110 per kg and
9 kg at T 120 per kg. The average price of
the commodity per kg is
(A) T 112 per kg

(B) T 1T per kg

(€) TS perkg

(D) T\Operkg

72. Haryana Legislare has the power to pass

laws which arc in the Schedule
of the Constitution,

(A) 8 (B) 6
(€ 7 (D) 4o

73, The soil of the hilly area of Haryana is

(A) Rochy (B) Black
(C) Yellow (D) Clay

74.  Find out the wrong term gy the given senes.

8. 13,21, 32,47, 63, 53
(A 32 (B) 49
() 13 ) 2

G

a2

L RNURRR TR Y

69. 8 smrefival 3ftt 6 wrga 1AL A g oy
7 328 afe a smefivad SR E T 50 7,

ot B, M e Sl T T B
wr i |
(A) 25,02 (B) T2, T2

© TLSTI (D) T30

70, uf WG WEIET 4x) + 208 - w4 6= g

AR UF -6 0, A 2qman d 7

(A) l.--’—I (B) -_l;.—l
-1 |

€ 535 (D) *”

M. CEFRE ST e o0 ofa frm gt ade
A2, 6 fFEm w1 ¢ 10 ufa famn she o e
F1 2 120 wfa fam o afrn wwm ¥ wm o
wfa fam st = @

(A T112vfa fEm
(B) T7sfafam
(C) ¢ 115 ufa faan
(D) 7 11owfa fam

72. ¥ favm es i o 1 w9 e

w3 H) 0fF A s
S E
(A) sl (B) w3
(C) Wt (D) =hf

73. ¥l F qerdh &y g ?
(A) ¥z (B) &l
(€) drefi (D) Faa=h firdh

M. A e ¥ rera vz s |
8.13.21,32, 47, 63, 13

(A} 32 (B) 47
(C) 13 (D) 2
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English .

an S2019 (1) (E2

I-!‘""r-" the grammatically wrong ‘cﬂlcm ) (E2)
ayk that option as answer.

In
N7 Fach Huevtion gives a
N Choices From the

75 (A) Scurcely had reached the station when | Yelect the MOst suitab| chowges
the train steamed oul meany the 4 S s 'hc nnenym (word which

ame 1€ Main
‘om'mﬂdlng lettes word and mark 11

(B) He s both scholurly and cultured &3 YOur answer,

. AVARICIOUS

(C) Nosoaner did the tiger appear than he Xy Tar
shot it down (B) lhr;
ny
(D) He s not so bad as you say
(D) Greedy

6. (A) Evervotficer and every soldier has 1o

be ready o sacnfice hissher hife for the Fill in the blank from the given chowces and mark

that option as the answer.

countn
(B) Father Prathap or Pradeep hasdone this | 80, She has 3 headache but he has gox
| mrschief appendicitis
() Fach man and coch weman have a vote (A) a
(D1 None of these (B) the
(C) an

D .
w=ction for question 77 : Sclect the word/group (D) noanicle

- +ords which is most opposite in meaning to the

~d/group of words. Identify the underlined words in the following
senlences.
. DIMINISH 81, This is the desk which he invariably wrote
(A) augment (B) swellup .
(A) preposition
(C) reduce (D) lessen
(B) verb
‘rection for question 78 : Read each sentence to (C) helping verb
“dout whether there is any error in it. The error.af (D) linker

~will be inone part of the sentence the option of
82, He signed the letter.

(A) adverb

Tpart s the answer.

.1 (1) 7 have been wondering (2) / whether

you will be (3) / free this evemng (4). (B) noun

(A) 1 (B) 3 (C) pronoun

(C) 4 (D) 2 (D) verb

' G

13-
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, aofy =l
(A) gT (A) qmﬂa"::ﬂ : \6
() Fll () A @A €A EE v
(C) T (C) zﬁi:ﬁ!mmm g
(D) gaf) (D) mﬁﬂﬂi“ﬂ '
e s e g (P s g e 6
g, Erfafid 3§ @ @y aga w9 AR 7 ' frey Ty i R 7 3
10 :
(A) Tf%al (A) 1 (B) ) (
(B) gE () 13 L
0 o, 49, g fertan :
(D) F1F wTE faafama
3) wAl F) 1, W
s, v 7%= A femA e | sn) F4 ) n
§) @ 1) =l
=0fe ;
w --m ¥) wfu=m ") 3
(B) TEEfem
o (a1) (3m) (3) (3)
= 5 4wk 5 A9 @ 1 =
(D) o & o
g6, TFmTezuafanfird 7 (€) | L ¢ B
(A) s DF n =@ q
gea
(C) ©m ia?%
o i B) frame
V=l - (D) F
\\
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